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Student response includes each of the following 4 elements:
o Correct compost collection site (cheapest site)
« Valid method for determining the cheapest site
« Valid model for the cheapest site
« Valid steps used to create model

Sample Student Response:

I calculated the cost per ton of compost for FW processing and
Hayward Ecology.

FW Processing: (1.25 x 12) + 20 + 50 = 50.75

Haward Ecology: (1.25 x 60) + 20 + 36 = 39.75

I did not need to calculate the cost per ton for Jasper Organics or
Northwestern because they are both greater distances and have
higher fees than Hayward Ecology. I also did not need to
calculate the cost per ton for Milton Recycling because it has a
greater distance and higher fee than FW processing.

At 39.75 per ton, Hayward Ecology collection site is the cheapest
option.

To create my model for the cost of disposing food waste, I will
multiply the cost per ton by the number of tons. So my model for
Hayward Ecology is C = 39.75x where C is the total cost and x
is the number of tons of compost.
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Student response is a function that replaces variables by table entries.
40x
10-x

Sample Student Response: f(x) =
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Student response includes each of the following 2 elements:
« A valid process for determining the inverse function
« A valid inverse function

Sample Student Response:

Let f(x)=y
In an inverse, switch the x and the y.
X = 40y
10-y
x(10 - y) = 40y
10x - xy = 40y
10x = y(x + 40)
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x+40 =V
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